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Accounting for Partnership Firms

fime allowed : 45 min.
_ - withdrew ¥10,000 on 15th day of every

Maximum Marks : 20

Q! nterest o Dev's drawings will be; month, Interest on drawings was to be charged @ 12% per annum.
(@ 14,400 (b) 7,200 (Choose the corvect alternative) 1| mark
() }1,200 (d) None of these

et fixed capital method, the partney’
Q2 Und » the partner’s capital account balance always remains fixed.

True/False? Give reasons. 1 mark

acl'mittcd Raghav their Landlord as a partner in the
dwill premium for his share in the profits. Raghav had

) Kanha, Neeraj :Imd Asha were partners in a firm, T hey
firm. Raghav bfr?gs sufficient amount of capital and 800
given a loan of <1,00,000 @ 10% p.a. interest to the partnership firm bef
accountant of the firm is emphasizing that the interest on loan shiuliﬂnc ;z:rdc;cﬁl‘:;can:e gl
Is he n‘ght in doing so ? Give reason in support of JYour answer, % 1 mark

Q4 Jain, C‘;uI;:a!T?}dogngg \.'\I"cfc partners in. a firm. Their fixed capitals were : Jain ¥4,00,000 ; Gupta %6,00,000
and Sll'.lg ; d 9, o -i hcyfvﬁ'crc sharmg: profits in the ratio of their capitals. The firm was engaged in the
processing an 'li“ ution of Havoured milk. The partnership deed provided for interest on capital at 10% per |
annum. During the year ended 31st March 2020 the firm earned a profit of T1,47,000. |
Showing your working notes clearly, prepare Profit and Loss Appropriation Account of the firm.

OR
On 1.4.2019, Brij and Nandan entered into partnership to construct toilets in government girls
remote areas of Uttarakhand. They contributed capitals of ¥10,00,000 and ¥15,00,000 respecti
sharing ratio was 2 : 3 and interest allowed on capital as provided in the Partnership Deed was 1
During the year ended 31.3.2020, the firm carned a profit of ¥2,00,000.
Prepare Profit and Loss Appropriation Account of Brij and Nandan for the year ended 31.3.202
workings clearly. L

Q5 On March 31st, 2020, the balances in the capital accounts of Esha, Manay and Daman after mak
for profits and drawings were ¥3,20,000, ¥2,40,000 and ¥1,60,000 respectively. Subsequently, it v
that the interest on capital and drawings had been omitted. The profit for the year ended on 31
was £90,000. During the year, Esha and Manav each withdrew a sum of %48,000 in equal ins
middle of every month and Daman withdrew 60,000. The interest on drawings was to be cha
and interest on capital was to be allowed @ 10% p.a. The profit sharing ratio of the partners was 3 ;-

Showing your workings clearly pass the necessary rectifying entry.
Q6 On 1 April 2019, Sameer and Yasmin commenced a business in partnership with their

%15,00,000 and Z10,00,000 respectively. They agree to share profits in the ratio of 3:2.

The books are closed on March 31, every year. Interest on capitals, salary and commission :

allowed even if it involves the firm to incur a loss. Interest on capital is provided @5% p.a. a

drawing is charged @ 12% p.a. 4

‘ Sameer (%)
3,00,000
30,000

Particulars

Additional capital contributed on July 1, 2019
Drawings (during 2019-2020)

Salary 20,000
Commission 10,000
| Share in loss for the year 2019-2020

Calculate the amount of net profit during the year 2019-20 andp

.
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] allowed: (Choose the correct lternative) |
A a partn
interest on loan 0

12% p.a.
.'-;Ja (iii) No interest is allowed. (iv) @ 12% p

d of each quarter, throughout the o,
Arm has withdrawn T9 29,000 at the en (Choose the correct alternative) | ’nark

ark

rate of 6% per anum will be: () Note of these
10' aslof Mirch 31 2020, who share profits and losse i
¢

Assets ‘ Amount ®)

30,00,000

- %10,00,000. Profits were
% p.a for the year ending
the correct alternative) 1 mark

) . and
il in the blanks) | mark
ce in their fixed capiul
for the year ended
respect of interest

., 4 marks
were 90,000
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e t Partnership Firms — Basic Concepts

| Maximum Marks : 20
ing profit in the ratio of 3 : 2. Their Balance Sheet on 31.3.20 is given below:

Amount X)

Assets Amount (%)
Drawings:
40,000 A 4,000
B 2,000 6,000
Other Assets 34,000
40,000 40,000
.' : di\:idcd without providing for interest on capital @ 10% p.a.
= on A's Capiral? (Choose the correct alternative) 1 mark
(¢) 3,100 (d) 2,700

_ts.and losses in the ratio of 3 : 2 having fixed capitals of ¥1,50,000 and
p deed provides for interest on capital @ 8% p.a. The Net Profit of the
1 what ratio the appropriation of profit will be made?
(Choose the correct alternative) 1 mark

) (c) 3:4 d) 4:3

profit as per Profit and Loss Appropriation A/c is ¥2,50,000. The total
salary is T4,000 per quarter and B’s salary is ¥40,000 per annum. The
(Choose the correct alternative) 1 mark
(o) %3,06,000 (d) %2,50,000
Partnership Act, 1932 if there is no express agreement on
s (iii) Interest on Drawings. 3 marks
p deed provided that the profits shall be divided as:

had been distributed among the partners.



